K LA ATl

WAt aaR ook Ra—ceasi-o
241 L";.»L\;‘ 6).:\} ol W] gf“jj‘ g)ﬁjg i:g_.z‘.\f\“ tuj.:\m
2013 = 2012 7 puse ; . ) i ol gy
(ks 4) w‘ﬁ"&ﬂ‘wb”‘”p{“"ﬁf’gﬁbdu}”‘_l
2 +2x+1 ° e abt+ac=a(b+c)
(x +4)? — 81 . e a?—2ab+ b®> = (a—b)?
4% -9 o o a?+2ab+ b? = (a+b)?
Br+1)2+Bx+1)(x+7) o e a’?—b*=(a—b)(a+b)
V3 ; VE&ITT VB 025
(kL 3) ul’ b dawg - 2
BN 3 2) . e
2 ’ 2 3 ’ (=7)°
(L 1) Foaaal Ll LK us gl - 3
80000
A= (z+2)*+ (z —2)?
B = (z—5)(z+V5)
(2waiyg Lo 2 ) JF -2
C=92>-1
D = 2% — 18z + 81
(Lt 1) Pail -1
A= (V5-V3)(V5+V3)
(i 1) ' s gt - 2
1
VR
( Lo 3) g - 3

450 — 2¢/32

QUI PEUT FAIRE; PEUT FAIRE MIEUX

3vV27 + 212 — 73






